CBSE Class 12 Accountancy Compartment Question Paper 2015 (July 16, Set 1- 67/1)
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Roll No. Candidates must write the Code on
the title page of the answer-book.
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e Please check that this question paper contains 24 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
e Please check that this question paper contains 23 questions.

e Please write down the Serial Number of the question before attempting it.

e |5 minutes time has been allotted to read this question paper. The question paper will be
distributed-at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.

AGTIMTEH

ACCOUNTANCY
fTee a3 T2 [ 3BT 37 2 80
Time allowed : 3 hours.] [ Maximum Marks : 80

QAT 39T :
(i) TETTF-UF AT G H [a9ed & — &, & 3R T |
(ii) 91T & QY1 ST & 7w sfAard & |
(iii) TR &1 19 97T & (a1 [aea]vn &7 fa9eivon) 3K T (3ol oiEisd) § T iz U
WTTT BT FAT & |
(iv) UHTIT & T4 97T & 307 UF &1 &7 91 [oal@w |

General Instructions :
(i)  This question paper contains three parts A, B and C.
(i) Part A is compulsory for all.
(iii) There are two parts. Part B — Financial Statement Analysis and Part C -
Computerized Accounting. Attempt only one Part.
(iv) All parts of a question should be attempted at one place.
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HIT —h
PART - A
(ST ot Ao et % fer o)

(Accounting for Partnership Firms and Companies)

. U 99 92N o Vvl W, o9l o T0Y Tia-foeaor § 9 ™ 9= 9= 99 6 TdiHl
= &% 591 § & ST 1

(37) Y-8 [aHaed @ | |

(&) T WERR % US @i 7 |
(@) T GERRI & Ys @l q |
(¥) YAHAHA G H |

When a new partner 1s admitted, the balance of ‘General Reserve’ appearing in the
Balance Sheet at the time of admission 1s credited to :

(a) Profit and Loss Appropriation Account.
(b) Capital Accounts of all the partners.
(¢) Capital Accounts of old partners.

(d) Revaluation Account.

2. THISTA], RS AT AR Uh HH o GERR & a9 3:2:1 & 39 H oY died o | 3= 370
T HifeTsh 15T %l BH ¥ Ush FIERR I I Ui ol | T 319 3791 o foIe gane i
q9T I WA &l ART AT | RG] = ST &l 961 o [0 a6 T 6 &
YTt AT-BI [a-s @d H she &1 | 3T IThT THT T Tl & 2 30 39K & 9999 H

HROT ST/ | 1

Kajal, Neerav-and Alisha are partners in a firm sharing profits in the ratio of 3 : 2 : 1.
They decided to-admit Rajan, their landlord as a partner in the firm. Rajan brought
sufficient amount of capital and his share ot goodwill premium. The accountant of the
firm passed the entry of rent paid for the building to Rajan in ‘Profit and Loss
Appropriation Account’. Is he correct in doing so ? Give reason in support of your
answer.

3. UH UERR & EHN WUl - W TTHeAERT W & & Gdql = & A1 T &l
ST 1

(37) hacT STIHRT T&UT i dTet FeRR & Yoil @ 7 |

(@) Ol AERR % ST @rdl ° 39 W T e e |
(@) IS WERRI & ST @rdl § 3% 72 AN s S 1 |

(@) I WEERI & S Grdr § 3% [ A [T 3 |
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At the time of retirement of a partner ‘Loss on Revaluation’ 1s debited :

(a) only to the capital account of the retiring partner.

(b) to the capital accounts of all the partners 1n their old profit sharing ratio.

(¢) to the capital accounts of the remaining partners in their new profit sharing ratio.

(d) to the capital accounts of remaining partners in their old profit sharing ratio.

4. 39 Q@A HT AH S0 SEH 99 RO & INYE % UvEld SRUMT IEE E@9T I
TR fhaT AT € | 1

Name the account to which the °‘Balance of Debenture Redemption Reserve’ 1is
transferred after all the debentures have been redeemed.

5. &7 [ T U 39 1
(31) 9% WX YA THIHA A&l fhar ST 9ok |
(@) HAA 10% b ey §g T Y I 63T ST gehaT ¢ |

(F) &0 fohT 7T 39T W STad &l T ART o SRIER ATeehay g 98 Y: I ha1 ST Fehdl
g |

(X) ST H I i el |

A forfeited share can :

(a) not be reissued at discount.
(b) bereissued at a maximum discount of 10% only.

(c) be re-1ssued at a maximum discount equal to the amount forfeited on the share.
(d) None of the above.

6. “TNMY-BTH e @’ a9T ‘-8 3 @Td’ H 39S iU | 1

Difterentiate between ‘Profit and Loss Appropriation Account’ and ‘Profit and Loss
Suspense Account.’

7. OO % U i H, “Ae [aee” 9RI |l 1 Uk MU € | SceA @ Uikl | T
TATEROT YT & S AHIUE SUATAT & | SIS 18T TR S8 o 01T I8 Ueh Thel et & ol
&1 o el o W i 3@ & (o U @ &5 gelrdl & | ! 9gd 3Te8T 1
1 & qIT AN o Siifoehl §H o (1T, [ §aIe & graemared ai & o, SIREvs § Uh
T2 AR TP TAMIT HH aTedl & | T i Tawaehal st /T A &6 [T HHAT 4 T 100
Uk o 50,000 3791 I THHST WX 27 3 50 U b 80,000, 10% FOTGH Bl FAITHT T I
MU forar | 3

39T AT FOTIAT o THA & 01T ATETh JSHHET Uatedl ST | Th U9 Jod i
e o SHITT 0 TP THTST ol AU HET Il & |
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‘Nandan Ltd.” 1s a manufacturer of heavy machines 1in a town of Telangana. It follows
high standards of environment safety in the process of manufacturing.

The company runs a school to provide quality education and a medical centre to
address health 1ssues of the resident of that area.

The company 1s doing well and 1s going to start a new manufacturing unit in
Jharkhand creating livelihood for people, especially those from disadvantaged sections
of the society. In order to raise funds the company decided to 1ssue 50,000 shares of

X 100 each at par and 80,000, 10% debentures of X 50 each.

Pass necessary journal entries for the i1ssue of shares and debentures. Also
identify any one value which the company wants to communicate to the society.

8. 1 A, 2014 I T 20,000 F LIk I DISHT Tk BH bl IREHAT T 1,00,000 &1 | IEERI
% Sl @il 1 99 T 60,000 9T | FTe] SFAE T 10,000 97 TAT W AT AT | IS T Hl

AT 3X 8% & AT AT T HodishT 9R) aul & 3L % 3d & 3TER W T 60,000 foa
T 8, A WH o 3G AT i UM ShitsT | 3

On 1% April, 2014 a firm had assets of ¥ 1,00,000 excluding stock of X 20,000.
Partners’ capital accounts showed a balance of X 60,000. The current liabilities were
X 10,000 and the balance constituted the reserve. If the normal rate of return 1s 8%, the
‘Goodwill’ of the firm 1s valued at < 60,000 at four years of purchase of super profit,
find the average profit of the firm.

9.  3TeAh [dAHes = X 500 ¥czie % 7,000, 10% FOTIHAT &l I 50 Uedieh & UIHIH I I (6T
TSTeRT BMME 5 961 & U¥aTd 10% o UMHIH O &A1 91 | FE & 91d1 & STaR 36eT W)

Z 200 AT 9T 3Tee U <F 97 | 3
10% ZEOTORI-Eh TTH o5 THT 3TEvdeh USTHTH=T UTamedT shilelu |

Alok Ltd. issued 7,000, 10% debentures of X 500 each at a premium of X 50 per
debenture redeemable at a premium of 10% atter 5 years. According to the terms of
issue, < 200 was payable on application and balance on allotment.

Record necessary journal entries at the time of 1ssue of 10% debentures.

10. 1 3T, 2012 1 Tk HEAN A T 100 T & 4,000, 9% ROTTAT BT FEA 10% o 95 T 6T | 34
SEOTIAT ST IMEH 10% o WTHIH O AT 91 | FOTIAT bl 91 o 3R 31 A9, 2014 9 &
Y FHHA! Bl TR Uaay Tol ST & 56T Hleh TIaT S b 1T T 40,000 5 0TI I
T AT 4T | 3

31 A, 2014 I HOAT 4 ol IR T LT A o 6T T 32,000 6 FHOTTAT HT 567
T 95 T OIS 9T T 8,000 % FOTTAT &M 36T T 90 WicT 09 TohaT | 36 O T 1,000 i T

T g |
9% SRUTTST o I o ToTT STEvdeh TSTHATHDT WA d] ity |
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On 1% April, 2012 a company issued 4,000 9% debentures of ¥ 100 each at a discount
of 10%, repayable at a premium of 10%. The terms of i1ssue provided for the

redemption of I 40,000 debentures every year commencing from March 31%, 2014,
either by purchase from open market or by draw of lots at the company’s option.

On March 31%, 2014, the company purchased for cancellation its own debentures of
the face value of X 32,000 at X 95 per debenture and < 8,000 at X 90 per debenture. The
expenses of purchase amounted to I 1,000. Record necessary journal entries for
redemption of 9% debentures.

[1. 3T TgT e AERR & 927 3:1 & 3Fud H o sied 9 | Qe | =1 T 4,40,000 T
IS T AT | ST 361 TS 137 WISRR =T T | 3, e a9T TST o JeT 797 o1 31T
2:2:1 4t | 4

ST 39T G511 o6 T8 3 1,00,000 ST G T WHIH & 3704 377 &6 [T SA1avash
TR AT | ®H ! BT T o < 2,50,000 [T T o7 |

SUTERT TGl o T8 TH ol J&iehl § Eaeh AT Alaredl sy |

Anu and Bhagwan were partners 1n a firm sharing profits in the ratio ot 3 : 1. Goodwill
appeared in the books at X 4,40,000. Raja was admitted to the partnership. The new
profit sharing ratio among Anu, Bhagwan and Raja was 2 : 2 : 1.

Raja brought X 1,00,000 for his capital and necessary cash for his goodwill
premium. The goodwill of the firm was valued at < 2,50,000.

Record the necessary journal entries in the books of the firm for the above
transactions.

2. T, s a7 3711 Ush ®H & ARk 9 a97 3:2:1 @ 31U ¥ &Y died 9 | 31 |19, 2014

T SR [RATA-TTeuT 5 UehIY 2T - 4
CEC 1R8] Tt Qg TS
) )
T Toed 1,20,000 | Iehs & 20,000
ATIR 1,40,000 |31ER 1,40,000
HH T 5% ROT 1,00,000 | 9T & 70,000
= 1,80,000 | %Eeh 1,70,000
OS] EEN 1,30,000
o 2,00,000 [a=ITO 3Te @rdl 1,20,000
HH 1,20,000 o 2,90,000
3T 80,000 | 4,00,000

9,40,000 9,40,000
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q1

12 S, 2014 =1 HH 1 S8 &1 T 9 FERRT i@ o HN 3Heh [HUEehl &l -4 33

(37) 3Pl GF H AT dh HH & o H 3GH1 9T S9! T0ET USel a9 9 g0 ool &

3G AT o 3T 9T hi STRATT |

(@) HH B ST | IR 91T TGt 0T U6l d1 auf o Fel o o 1 a6 6 6T b

3T 9 =hl ST |

() TS daas & o 9 : 230,000 ; T 70,000 T24T T 80,000 |
3 FTSITEehT a1 U i o 1T ShYH T Uil @Il aR T |

Priya, Karam and Anna were partners of a firm sharing profits in the ratio of 3 : 2 : 1.

Their Balance Sheet on March 31%, 2014, was as follows :

Liabilities Amount (%) Assets Amount (%)
Bills Payables 1,20,000 Cash 1n hand 20.000
Creditors 1,40,000 Debtors 1,40,000
Karam’s Loan @ 5% 1,00,000 Bill Receivable 70,000
Reserve 1,380,000 Stock 1,70,000
Capitals : Investment 1,30,000
Priya 2.00,000 Advertisement
Suspense A/c. 1,20,000
Karam 1,20,000
Builds 2.90,000
Anna 80.000 | 4,00000 | 0T
9,40,000 9,40,000

Karam died on June 12, 2014, and according to the Partnership deed his executors
were entitled to be paid as under :

(a) His share in the profits of the firm till the date of his death which will be
calculated on the basis of average profits of last three completed years.

(b) His share in the goodwill of the firm which will be calculated on the basis of two
years purchase of total profits of last three years.

(c) Profits for the last three years were : X 30,000, X 70,000 and X 80,000.

Prepare Karam’s capital A/c to be rendered to his executors.
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13. (37 e < T JSHET Uiareat § e T s IR 6

ferfor feraroT 7. “(f:)' j‘:;
3797 Ul 1t N R I
__________________ Sl

AU BT @A | 6,000

SRl e e o - A AR N p—

SR e a1 oI v = R A R p—
Z 10 9= & 2,000 371 = T 2 Ui

39T & WHIY W FHa f6ar T o
agT o9 I T 8 Ul 3T AW 74T 1,
3 5 I 3MEeA WY WHIH Aed uid

39T AT T 2 U 3T hl UIH IEAT
T hT YA 7 3 T 800

GEXREIT]] e 19.600

e T K R R

X 19,600 T 1400 3T T Y. HA
T Uest TR TR 1)

3797 Y07 @ral =) 1= il [ (OIS [ —

B R I 1 e~ S N IR [p—

(&X0T Toh T 39T o G0 OY oy
1 ISt 9 @Tdl § SHI0T)
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(<)

e & TS AT Hfattedr § e T bt gid iy

fafer

faawoT

) )

37T O el

3797 0T @Td §

39T UIH IJT=AT @ 9

3 100 U8 & 1,000 RN T W

T 80 Ui 3T AN TAT A1 A e
10% & g T Ha {har T o1 =
U ATEAT BT A el T T &30T)

GEREI]]

YT EW G
39T U7 @1 9

( 70 UTd 3797 &l 5T ¥ T 80 W&, 800
ﬁ?ﬁwgq:ﬁﬁm)

3797 &0T @l
Uil 99 9T |

(BT0T TR TRI 3TN o I TEE 9T Y
T ISl 99 @i | LA

30,000
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(a) Fill in the blank spaces in the journal entries given below :

Date Particulars F Dr. %) | Cr.R)
Share Capital A/c. Dr. I
----------------------- Dr. —————

To Share Forfeited A/c 6,000
To Share Allotment A’c | | | ===
To Share First CalA’c | | | ===—--

(Being 2,000 shares of ¥ 10 each
< 8 called up 1ssued at a premium of
X 2 per share forfeited for non-
payment of allotment of X 5 per
share including premium and first
call of X 2 per share)

Bank A/c. Dr. 19.600

To Share Capital Alc | | | ==—--

(Being 1400 shares reissued for
< 19,600 as fully paid up).

Share Forfeited A/c. Dr.| = | cemeeem | oo

To Capital Reserve A’/c. | | | ===—--

(Being profit on reissue of forfeited
shares transterred to capital reserve)
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(b)  Fill in the blank spaces in the journal entries given below :

Date Particulars K Dr. Cr.
) )
Share Capital A/c. Dr. 30,000
To Share Forteited A/c. | | | ===
T e
To Share first call A/c. 60,000

(Being 1000 shares of X 100 each,
X 80 called up 1ssued at a discount
of 10% forfeited for non-payment
of first call)

Bank A/c. Dr. 56,000
--------------------- Dr. -
Share Forfeited A/c. Dr.| = | c=oo--

To Share Capital Alc. | | | ==—---

(Being 800 shares reissued at I 70
per share <X 80 paid-up)

Share Forteited A/c. Dr.| = | coe-—

To Capital Reserve Alc. | | | ===—--

(Being profit on reissue of forfeited
shares transterred to capital reserve)
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4. 9@, gIST a1 ST Uh ®H H RN & T97 3:2:1 o 34 § & ded & | 30 SH, 2014
T SBIH FH HT o8 v &1 Fog o= | 39 9l = o0 & efafaamr = uer g9t 6

67/1

T Tt
DOy quiat
) )
AR 50,400 | kg 13,700
T SAR-Te ™ &Y 10,000 | @& 20,100
grad i 12,000 | 3R 62,600
ST - T 16,000
Yo 30,000 AR 20,000
SR 20,000
EE 11122} 10,000 60,000
1,32,400 1,32,400

AT bl gl T AT T YA = TR | T 531 T4

(37) 9o 7 Fewn & 3 18,000 H o forar |

(@) G A ik T 17,500 H o ToTar 1 Tollied = e ohl g% Jod U of {of |

() TERI ¥ T 60,500 U & |

(T) TSR] T GUT A AT T2 997 gl &3 T 4,500 & |
gl @I, AHE QAT adT FERRI & Sl @Td ddr SN |
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Bhuvan, Suraj and Ibrahim were partners in a firm sharing profits in the ratio of 3 : 2 : 1.
On 30" June, 2014, they decided to dissolve the firm. Following was the Balance

Sheet of the firm on that date.

Amount Amount
Liabilities Assets
) )
Creditors 50,400 | Cash 13,700
Investment Fluctuation Fund 10,000 | Stock 20,100
Reserve Fund 12,000 | Debtors 62,600
Capitals : Investments 16,000
Bhuvan 30,000 Furniture 20,000
Suraj 20,000
[brahim 10,000 60,000
1,32,400 1,32,400

The assets were realized and the labilities were paid off as follows :

(a) Investments were taken over by Bhuvan for < 18,000.

(b) Stock was taken over by Suraj for X 17,500 and furniture was taken over by

Ibrahim at book value.

(c) < 60,500 were realized from the debtors.

(d) Creditors were settled in full and realization expenses were < 4,500.

Prepare Realisation account, Cash account and Partners’ Capital accounts.

AT AT R0 Hl GHESH o G¥E 31 |19, 2014 i 90, HHa 797 §9 o Ysi @rdl |
AT T 3,20,000, ¥ 2,40,000 74T T 1,60,000 99 & | 3 AT TdT FeAT {oh YT AT STEIT

T ST &l I AT & |

e 3] HM, 2014 I GHTT g I I &9 T 90,000 4T |
e TN T W dYl HHE U - S [hycl H U A8 & T H T 48,000 T 3701

TSR3 A& €H = ¥ 60,000 THT SATEI0T HAT |

e U W 5% WY I 3T H AT &1 AT TG oI W 10% Uy i X F AN <

a7 |

o  UERRI N AN foSH SO 3:2:1 T |
3T IR TOHTSAT Sl WL S gU Teh A9 IR A iy |
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On March 31, 2014, the balances in the capital accounts of Esha, Manav and Daman
after making adjustments for profits and drawings were X 3,20,000, < 2,40,000 and

X 1,60,000 respectively. Subsequently, it was discovered that the interest on capital
and drawings had been omitted.

e  The profit for the year ended on 31* March, 2014 was T 90,000.

e During the year, Esha and Manav each withdrew a sum of < 48,000 in equal
instalments in the middle of every month and Daman withdrew I 60,000.

e The mterest on drawings was to be charged @ 5% p.a. and 1nterest on capital
was to be allowed @ 10% p.a.

e The profit sharing ratio of the partners was 3 : 2 : 1.

Showing your workings clearly pass the necessary rectifying entry.

16. SHRT [AHIE I Gsiiehd Ioit T 10,00,000 & ST 3T 100 Teeh o THAT ST H faved & | el
= ST T 84,000 39T I WA I HAHT L o1 9 fohan | afer e v 9 3 o -

3reg W= T 30 Uil 379

e - T 40 il 37T (AHIH Hied)

TR AT SATH o1 W= T 50 U 379

80,000 3T & 1T 3MTa8H W g |

200 37T & Uk YR, TG = e qdT T AT 3 FTAH Tel 6T |

400 37T . Ueh YR, GRG = JTFAT AT 1 YA -8l T |

FHIHET A G 4T GRY b 3791 1 8207 T (o |

3G UFEI 8Y0T (o6& 1 3791 ohf T 80 Ui 39T JuT U< I: i she I<am 77 |

U e Fi-a [T HRHT i Yhg &1 qT Y= H Uil Hif | 8

Dogra Ltd. had an Authorised capital of X 10,00,000 divided into Equity shares of
< 100 each. The company offered 84,000 shares to the public at premium.

The amount was payable as follows :

On Application — X 30 per share

On Allotment — X 40 per share (including premium)

On First & Final call — X 50 per share.

Applications were received for 80,000 shares.

All sums were duly received except the following :

Lakhan, a holder of 200 shares did not pay allotment and call money.
Paras, a holder of 400 shares did not pay call money.

The company, forteited the shares of Lakhan and Paras subsequently, the forteited
shares were reissued for X 80 per share fully paid-up. Show the entries for the above
transaction in the cash book and Journal of the company.

AY4qT/OR
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17.
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T el TS 3 T 10 U o 1,00,000 THAT 39T HT 10% S 9T HET 1haT ST T 2

3TMEleT UT, T 3 37 UL A7 T 2 UIH T9T 3109 AT Ucdsh W T 947 | 1,50,000 391 &
feTT 3TTaeT U BT | 50,000 37901 & 3{TEEehT Sl WU 9 U 7T 9941 376 AR anid o

R el

YR, Teh 3TWTYRE = 310+ 3,000 3797 G e R HT PIAH =&l (61, 394 9 AT
T YA TIH a1 o i Y < |

Ueh 3T9TYR, e, IS8k Ui 700 3797 9, 7 AT ATS13T BT P STeeT & G T

S |

U 3WTERH, qle, 19k 9 1,000 3T &, 5 TgH 27 379 Jra-T 1 = el
fSRaT | 3Gk 3TN ohT BX0T Y foral AT | &X0T T T 37910 &l ¥ 11 Wid 3791 qUT Usd U

e &Y 3T T3 |

U Rl & T FHHIHT hl J&h! H ST TSI Tiafeed shifew |

‘Kaya Fab Ltd.” 1ssued 1,00,000 equity shares of < 10 each at a discount of 10%
payable as < 2 on application; X 3 on allotment and < 2 each on first call and final call.
Applications were received for 1,50,000 shares. Applicants of 50,000 shares were sent
letters of regret and application money was refunded. Madhur, a holder of 3000 shares
failed to pay allotment money which he paid along with the first call.

Rohan, a shareholder holding 700 shares paid both the calls along with allotment.
Sohan a holder of 1000 shares did not pay the first call and the final call. His shares
were forfeited. The forfeited shares were reissued at < 11 per share as fully paid-up.
Pass necessary journal entries for the above transaction in the books of the company.

31 |1, 2014 =hl M AT TT=T ST TRATT-T9eR0T 777 Uhi T ; 8
- TTST & TTEoT
A gt
(%) )
ATETT 26.000| 9 20.000
FHART Ay MY 16,000 | ¥ 30,000
HIETR &Y e 30,000 | &R 44,000
ST - T : S 0N
GLERICEIEI 2.000 | 42,000
AFd 1,10,000 TI= AT {90 1.20.000
Tor= 60,000 1,70,000 | =T 20,000
ATY-8T QT 10,000
2,42,000 2,42,000
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ST fof 1 e 3 e 7 3 o o it o e Sk e

(30) ¥ 2,900 % SIT FOT 3UARGT (hd ST |
(@) T = @i & T 35,000 7 o o2 |

(d) H I TG B e T 40,000 A1 T&T | Fa=<dq 3109 3797 I TN WHIH A1
T |

(®) To= STiaes o AT T 99 WEER H GSi A GRS (a0 ® S % SER
W TR TN | gheh TolT Fef AR WEER Uhe A el 3! Uk T T
ERIRCIN

QAHeATR Tl T WEIRRI % Yol @l AR iy |
Following is the Balance Sheet of Amit and Vidya as at 31* March, 2014.

Liabilities Amount Assets Amount
Creditors 26.000| Bank 20,000
Employees Provident Fund 16,000 | Stock 30,000
Workmen’s Compensation 30,000 | Debtors 44,000
Fund Less : provision for
L ApILBI8 | bad debts 2.000 | 42,000

Amit 1,10,000 Plant and Machinery 1,20,000
Vidya 60.000 1,70,000{ Goodwill 20,000
Profit and Loss Account 10,000

2,42,000 2,42,000

On the above date Chintan was admitted as a partner for 1/4 share in the profits of the
firm with the following terms :

(a) < 2,900 will be written off as bad debts.
(b)  Stock was taken over by Vidya at < 35,000.

(c) Goodwill of the firm was valued at I 40,000. Chintan brought his share of
goodwill premium 1n cash.

(d) Chintan brought proportionate capital and the capitals of the other partners were
adjusted on the basis of Chintan’s capital. For this necessary cash was to be
brought in or paid off to the partners as the case many be.

Prepare Revaluation Account and Partners’ Capital Accounts.
AYAT/OR
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AhYT, HT a1 Tl U & o TERR 9 997 HHS: 50%, 30% a9r 20% oy ded 9 |
31 |, 2014 Hl ITRT TEITT- @07 1+ UehIT T

=2 TlﬁT & ?T&T
aTeTRAT Tt

%) )
ATETT 34.000| THe 68.000
TS 1Y 10.000| € 38,000

a9 3a-=e [y 20,000 | TEX 94.000

ST - ARR LI 6.000 88.000
GIER] 1,40,000 EEN 80,000
T 30,000 =1 40,000
- 50.000 2,70,000 | srgatiy 20.000
3.34,000 3.34,000

_———————

ST (A1 86! T9L - STIHIT T&UT [T TaT TeheT ol Felel 4 ™ 1dl W ®H i =1e]
T T [ g

(31) ®H I EMd & Gedieh T 1,02,000 63T 727 q97 HGL o 3731 I LM T GHAST 6H
i o] TG Alet FIBRRT o Usil @Il § {oHar e |

(@)  FHHIR &Afdgid 1 I 12,000 6 HT TH a1 AT 4T a2 6 T 30,000 qH FHH HAT
T |

(d) I FOT o [T Yered= i T 2,000 F FHH [HAT ST |

(®) HE FH T 20,600 HT TG YA [HAT STC TAT I i 3G R0T @ § LAFEART B
TS STTU, TRt JTa &1 SRTER 69l § 10% UTday i &TST 3T led [haT ST |

(@) TR AT (BT ol UST ol Sk o SFUTd | FHTIIST ohar S | ’579eh foe st
o 7T &ITr 31 | =918 1T STUT A1 797E a1 T foham ST |

I T AT TERT % Joi @ (AR S |
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Lokesh, Mansoor and Nihal were partners in a firm sharing profits as 50%, 30% and
20% respectively. On 31* March, 2014, their Balance Sheet was as follows :

Liabilities A“Eg;‘“t Assets A“Eg;“‘t
Creditors 34.000| Cash 68,000
Provident Fund 10,000| Stock 38,000
Investment Fluctuation Fund 20,000| Debtors 94,000
Capiatals : Less : Provision 6,000 33,000
[Lokesh 1,40,000 Investment 30,000
Mansoor 80,000 Goodwill 40,000
Nihal 50,000 2,70,000| Profit & Loss 20,000
3,34,000 3,34,000

On the above date, Mansoor retired and Lokesh and Nihal agreed to continue on the
following terms :

(a) Firm’s goodwill was valued at the I 1,02,000 and it was decided to adjust
Mansoor’s share of goodwill into the capital accounts of the continuing partners.

(b) There was a claim for workmen’s compensation to the extent of < 12,000 and
investments were brought down to < 30,000.

(¢) Provision for bad debts was to be reduced by < 2,000.

(d) Mansoor was to be paid I 20,600 in cash and the balance will be transferred to

his lean account which was paid in two equal instalments together with interest
@ 10% p.a.

(e) Lokesh’s and Nihal’s capital were to be adjusted in their new profit sharing ratio
by bringining in or paying off cash as the case may be.

Prepare Revaluation Account and Partners’ Capital Accounts.

HIT -9

(faweu-1)
PART - B
(Option-1)

(faita faaro @t fagetyor)

(Analysis of Financial Statements)

18. ‘Biaet e’ U faxiig HH! & | I16] a9 B P 6 T3 Uh 0T W S & YA i

1T Bl Tohg TIATATT o 3T=aTd STl ST 9 1
(37) TRt iafary |
@) form niafary |
@) T a9 e SE7 idrereEr |
() YT A |
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‘Koval Ltd.” 1s a financing company. Under which activity will the amount of interest
paid on a loan settled in the current year be shown :

(a) Investing activity
(b) Financing activity
(c) Both Financing and Operating activities

(d) Operating activity

19. ‘st Toiaee’ ool § UshioTT ol SFa@rg Hidl df a97 Usel aur o 399 37T oy 3o
[T | AT 30 A H IR BT gl 9f a9 39 o] 39 dRe foxd
IEYTHAT AT | 3T SATEVIHAT Bl G B b [T HIAT 7 T 30,00,000 F THAT 790 I
T T | 389 T 20,00,000 T U IS I 1 563 6aT | 389 T 2,00,000
3T T FedT ATeT off WIRT | 91e] a9 H AT T I[F ™ T 15,00,000 4T |

SIET Tl T U=l Taiaredr gRT ehe Veg’ Id ShirsTy | 1

‘Shri Ltd.” was carrying on a business of packaging in Delhi and earned good profits
in the past years. The company wanted to expand its business and required additional
funds. To meet its requirements the company issued equity shares of X 30,00,000.
[t purchased a computerized machine of I 20,00,000. It also purchased raw material

amounting to X 2,00,000. During the current year the Net Profit of the company was
X 15,00,000.

Find out ‘Cash tlows from operating activities’ from the above transactions.

20. (37) HEAN SAMEMEIE, 1956 I AT VI, 9FT [ & IR FHAARGd Ay [ T INUhT ael
S-SR o ST ety foraRoT | 391ig ST 2

(i) . AT 320
(i) GaH INR
(i) 2SH®
(iv) SR &
@) o foerot faveyor & fF= 31 329l ol Sooid iy | 4

(a) Under which major headings and sub-headings the following items will be
shown 1n the Balance Sheet of a company as per schedule VI, Part I of the
Companies Act, 1956.

(1) Long term loans
(1) Loose tools
(m) Trademarks

(1v) Drafts in hand

(b) State any two objectives of financial statements analysis.

67/1 13
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21. MHfEd a1 ¥ el TEr-707 3191 i T iy 4

2
EERIEER 25,00,000
IBEN] 2,10,000
T 8,50,000
ST, T 2,75,000
g Td UHE oA 1,50,000
THAT 3797 T 14,30,000
8% RO 4,00,000
Sl e 2,75,000
YT (GTH-BT [oaoT Sl 1) 1,50,000

From the following information, calculate Total Assets to Debt Ratio :

4
Capital Employed 25,00,000
Investment 2,10,000
Land 3,50,000
Trade Receivables 2.75,000
Cash and Cash Equivalents 1,50,000
Equity Share Capital 14.30,000
8% Debentures 4.00,000
Capital Reserve 2,75,000
Surplus 1.e., Balance in statement of profit and loss 1,50,000
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MR AT Sl [AHes” &l Ued Fo3Teh 4T | 98 ! o (ol 3Tes! 3 adl Ty
ST T TET AT | 30 Afdeh STREII o ®9 U g 3107 3L &l I5sid &4 H [avamd

TGAT 4T | 98 Ush UHT AT T T8 30l Shreell adiehl ¥ el &1 SUER i &l S{Tedehdl
HI TETFT | ATl Soaeiad [eifies” &l 31 HTE, 2013 TAT 2014 I AT §T a9f Hl

-1 3T JetTcHeh [aaRuT (9 UK ¢ -

faawor

qe
&7

2012-13
)

2013-14
)

U
uRaa=

)

% qRaaT

e | 37T
T2l : HUAR] [6dcAT™ 39
F qd A

T @ 30%

Y TN TH

14,00,000
4,00,000

18,00,000
5,00,000

4,00,000
1,00,000

28.50
25.00

10,00,000
3,00,000

13,00,000
3,90,000

3,00,000
90,000

30.00
30.00

7,00,000

9,10,000

2,10,000

30.00

(31) 3194, 2013 T 2014 T FHIC B aTct T o (010 Y5 o AT <l TOFT hHifsTd |

(<)

SR Feafa O 9T ot Wit fhT ST aret TRl S Jodi i Ugeie iy |

Nishit was the Managing Director of ‘Lalita Electronics Ltd’. He had been earning
good revenues and profits for the company. He believed in giving respect to his
subordinates as his moral responsibility. He was the one who recognized the need to

find ecotfriendly ways to treat waste. Following 1s the Comparative Statement of Profit
and Loss of ‘Lalita Electronics Ltd.” for the years ended 31* March, 2013 and 2014.

Particulars

Note
No.

2012-13
)

2013-14
)

Absolute
Change

)

Percentage
Change

Revenue from Operations

Less : Employee benefit expenses

Profit before tax
Tax @ 30%

Profit after tax

14,00,000
4,00,000

18,00,000
5,00,000

4,00,000
1,00,000

28.5
2

10,00,000
3,00,000

13,00,000
3,90,000

3,00,000
90,000

30
30

7,00,000

9,10,000

2,10,000

30

(a)
(b)

above case.

20

Calculate Net Profit ratio for the years ending 31* March, 2013 and 2014.

Identify any two values which are being communicated to the society in the
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23. 31 HME, 2014 Sl IS [AHSES T RATA-TT6R0T 77 ThR T

S | 2013-14 | 2012-13
e -
) )
. QAT 9T SIaT
(1) 3R et
(37) 39T I 40,00,000( 30,00,000
(@) UG TG A [ | 10,00,000/ 6,00,000
(2) eI ST
TEIRTAN 0T 6,00,000|  4,00,000
(3) e FFETY
(37) SRS Tad 3.00.000| 4,00,000
(F)  STCIHICA W= 2 1,40,000| 1,20,000
Dl 60,40,000, 45,20,000
1.  OREEraat
(1) _ST=e aRgarat
(37) TN TR
i) | IREE A 3| 38.00,000| 30,00,000
(i) 3T U 4 9,40,000|  5,40,000
(2) S IR AT
(37) Wi (HTeTgE) 5.00.000|  3,20,000
() AR T 4,20,000|  4,20,000
(@) ehg qG1 Uehg oA 3,80,000|  2,40,000
Bl 60,40,000| 45,20,000
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Gl & e :

., 1-3-2014 1-3-201
— — 3 :&)0 3 ?E?)O 3
. | 999 ug Ay
YT (TTH-BT fIaoT 6T 91) 10,00,000 6,00,000
2. | TR WEEE
FX UG 1,40,000 1,20,000
3. | gd gREEEn
SIS 42,00,000 33,00,000
T g (4,00,000) (3,00,000)
4. | 3T GREHAT
A 9,40,000 5,40,000

MG TEESHT 1 &1 § 3@ g4 UHhE WaTg [gaiuT iR iy
a9 &% SR T 40,000 AT T T HIMH, N W THET eda™ T 30,000 &1, & T 9,000 T

ST 93T T4 |
Following is the Balance Sheet of Sreshtha Ltd. as on 31* March, 2014.
- A Nl\?ote 2013-14 | 2012-13
' ) )
L. EQUITY AND LIABILITIES
(1) Shareholders Funds
(a) Share Capital 40,00,000| 30,00,000
(b) Reserves and Surplus | 10,00,000 6,00,000
(2) Non-Current Liabilities
Long Term Borrowings 6,00,000|  4,00,000
(3) Current Liabilities
(a) Trade Payables 3,00,000 4,00,000
(b) Short Term Provisions 2 1,40,000 1,20,000
Total 60,40,000| 45,20,000
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18.

67/1

11.

ASSETS

(1) Non-current Assets
(a) Fixed Assets

(1)  Tangible assets

(1) Intangible
(2) Current Assets
(a) Inventories

assets

(b) Trade Receivables
(¢) Cash and Cash Equivalents

3 38,00,000 30,00,000
= 9,40,000f  5,40,000

5,00,000]  3,20,000
4,20,000]  4,20,000
3,80,000|  2,40,000

Total 60,40,000| 45,20,000
Notes to Accounts :
3. No. Particulars As on 31-3-2014 | As on 31-3-2013
) )
1.  |Reserves and Surplus
Surplus (Balance in Statement of Profit
and Loss) 10,00,000 6,00,000
2. |Short Term provisions
Provision for tax 1,40,000 1,20,000
3. [Tangible Assets
Machinery 42,00,000 33,00,000
Accumulated Depreciation (4,00,000) (3,00,000)
4.  |Intangible Assets
Goodwill 9,40,000 5,40,000

Prepare a Cash Flow Statement after taking into account the following adjustment :

During the year a-piece of machinery costing ¥ 40,000 on which accumulated

depreciation was 3 30,000, was sold for X 9,000.

(T HHToTST TR

HIMT -7

(faeu-2)
PART - C
(Option-2)

(Computerized Accounting)

TR SRR HUTEAT o el | ey &

(37) ATEHNEH oAl T O¥eT0] TdT ANeREH, delde, M-8 [aeRoT q97 did-TaeroT
AT |

(F) & oG UUTTCAT ohT 3TTHehieTs oi@iesh YoTell § gRad |

() TTSaaT a9l 9ieaay |

() 9O g, FHeliueer qor 913y |
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The components of ‘Computerized Accounting System’ refer to

(a) Analysis and recording of business transactions, preparation ot trial balance,
statement of Profit and Loss and Balance Sheet.

(b) Transforming manual accounting system to computerized accounting system.

(c) Hardware and Software.

(d) CPU, Keyboard and Mouse.

19. TREH 2961 | U Pl ST drell 78 “hieg” & 379 € 1
(37) T Pl HearaY T |
(@) 2T AW |
(@) ST o dlast Ui |
(T) T F BN |

The term ‘Field” as applied to database table means :
(a) Vertical column of the table.

(b) Name of the table.

(c) Horizontal row of the table.
(d) Size of the table.

20. Al 1 SUAR Hid U “Sh-THTE R0 9 o a0 &1 Seoid DT | 4

State the steps to construct a ‘Bank Reconciliation Statement’ using Tally.

21. ‘U FGHE. e S Hl 3T AqANTI & GIRTT T i YT el & I Hd (CAS)
T S Ta9Ianat s THSET ST SFadd i MOHEAT Shl 9910 W& H Tl id ¢ | 4

‘A business data needs to be guarded from its competitors.” Explain any two features
of CAS which help a business to maintain its secrecy.

22. BT o ol IRl § A1 A7 UTH o (AT o<l bl 0T BT | 4

Enumerate different elements ot a chart or a graph in pictorial presentation of data.

23, WIEHIETR UGT H ‘T’ T & 0N &l [IE@T | 6

Write the steps to create a ‘Query’ in Microsoft Access.
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